

TO VALIDATE, GO TO Certificate Number: **GI-COO-43303-65d64a30b1b36**

Qinadao

VERIFY.FTGS.US Date: February 21, 2024 Transport Type Port of Loading Vessel Tucson **Destination Country Destination Port**

Export Date Exporting Carrier 2024-02-20

China

Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 6357737050 Hohhot Comprehensive Bonded Zone,

Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Seller (Exporter)

43 Corporate Park

Irvine

Consignee

CA USA

Healthy Green Life Corporation

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Huimin District, Hohhot, Inner Mongolia 010110

Remarks Total: 1560 bales Total: 643.344 MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	21.255 mt	United States
Marks: TEMU7539068 52bales		
Alfalfa Hay	19.305 mt	United States
Marks: TLLU4908815 52bales		
Alfalfa Hay	21.065 mt	United States
Marks: CAIU9014964 52bales		
Alfalfa Hay	21.573 mt	United States
Marks: SEGU4326740 52bales		
Alfalfa Hay	21.782 mt	United States
Marks: SEGU5086665 52bales		
Alfalfa Hay	21.537 mt	United States
Marks: TGBU6560142 52bales		ZXXXXXX
Alfalfa Hay	21.573 mt	United States
Marks: TCKU6222860 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein



TO VALIDATE, GO TO Certificate Number: GI-COO-43303-65d64a30b1b36 **VERIFY.FTGS.US** Date: February 21, 2024

Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel	Port of Loading Tucson
43 Corporate Park Irvine	Destination Country	Destination Port
CA USA	China	Qingdao
Consignee	Export Date 2024-02-20	Exporting Carrier N/A
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Import Permit Number N/A	Bill of Lading / AWB 6357737050
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1560 bales Total: 643.344 MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	21.419 mt	United States
Marks: CMAU7858845 52bales		
Alfalfa Hay	21.011 mt	United States
Marks: MAGU5725930 52bales		
Alfalfa Hay	21.047 mt	United States
Marks: FWRU0129695 52bales		
Alfalfa Hay	21.627 mt	United States
Marks: TRHU8289521 52bales		
Alfalfa Hay	21.328 mt	United States
Marks: TCLU5079705 52bales		
Alfalfa Hay	21.872 mt	United States
Marks: TCNU1714749 52bales		ZXXXXX
Alfalfa Hay	21.174 mt	United States
Marks: CAIU9664933 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-43303-65d64a30b1b36

VERIFY.FTGS.US Date: February 21, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading Tucson	
Irvine	Destination Country	Destination Port	
CA	China	Qingdao	
USA			
	Export Date	Exporting Carrier N/A	
Consignee	2024-02-20	IWA	
Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Import Permit Number N/A	Bill of Lading / AWB 6357737050	
	Owner or Agent N/A	Forwarding Agent N/A	

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1560 bales Total: 643.344 MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	20.539 mt	United States
Marks: SEGU4396666 52bales		
Alfalfa Hay	21.7 mt	United States
Marks: TLLU4228926 52bales		
Alfalfa Hay	21.156 mt	United States
Marks: CMAU4700711 52bales		
Alfalfa Hay	21.954 mt	United States
Marks: CMAU6491930 52bales		
Alfalfa Hay	21.718 mt	United States
Marks: FFAU1617345 52bales		
Alfalfa Hay	22.235 mt	United States
Marks: BMOU5865740 52bales		
Alfalfa Hay	21.9 mt	United States
Marks: BMOU5805231 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold
- harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: **GI-COO-43303-65d64a30b1b36**

VERIFY.FTGS.US Date: February 21, 2024

Transport Type Port of Loading Seller (Exporter) Vessel Tucson Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China Qinadao CA USA **Export Date Exporting Carrier** 2024-02-20 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 6357737050 Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1560 bales Total: 643.344 MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	21.945 mt	United States
Marks: APHU7215711 52bales		
Alfalfa Hay	21.763 mt	United States
Marks: APHU7081084 52bales		
Alfalfa Hay	20.983 mt	United States
Marks: TCNU7638672 52bales		
Alfalfa Hay	21.673 mt	United States
Marks: CMAU7017798 52bales		
Alfalfa Hay	21.809 mt	United States
Marks: TLLU5006651 52bales		
Alfalfa Hay	21.519 mt	United States
Marks: SEGU4894334 52bales		DAXIII A
Alfalfa Hay	21.5 mt	United States
Marks: TGHU6490690 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein



TO VALIDATE, GO TO Certificate Number: GI-COO-43303-65d64a30b1b36 **VERIFY.FTGS.US** Date: February 21, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading Tucson
Irvine CA USA	Destination Country China	Destination Port Qingdao
Consignee Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Export Date 2024-02-20	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 6357737050
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1560 bales Total: 643.344 MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	21.691 mt	United States
Marks: TIIU4313939 52bales		
Alfalfa Hay	21.691 mt	United States
Marks: CMAU4558649 52bales		
======================================	=====	
		XXXXX
	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCIAL INVOICE

Invoice No.

SD-202402015

2/21/24

Date:

Shipper/Exporter:

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA Consignee:

INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD

SDHT-HGLC2023-6

Station 3E-028,

Beixing Lianchuang Center,

Hohhot Comprehensive Bonded Zone,

Huimin District, Hohhot,

Inner Mongolia

Contract No.:

Vessel: PRESIDENT TRUMAN

Voyage No.: 0DBHQW1MA

Shipping Line: CMA-CGM

Port of Loading: LOS ANGELES, CA

ETD: 2/9/24

Price Terms:

CIF

Booking No.: NAM6669608

Country of Origin: USA

Discharge: QINGDAO, China

ETA: 3/6/24

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
APHU7081084	082407	Alfalfa Supremi	52	21.763	\$465.00	\$10,119.80
APHU7215711	082405	Alfalfa Supremi	52	21.945	\$465.00	\$10,204.42
BMOU5805231	082420	Alfalfa Supremi	52	21.900	\$465.00	\$10,183.50
BMOU5865740	082419	Alfalfa Supremi	52	22.235	\$465.00	\$10,339.27
CAIU9014964	082422	Alfalfa Supremi	52	21.065	\$465.00	\$9,795.23
CAIU9664933	082465	Alfalfa Supremi	52	21.174	\$465.00	\$9,845.91
CMAU4558649	005239	Alfalfa Supremi	52	21.691	\$465.00	\$10,086.31
CMAU4700711	082417	Alfalfa Supremi	52	21.156	\$465.00	\$9,837.54
CMAU6491930	082411	Alfalfa Supremi	52	21.954	\$465.00	\$10,208.61
CMAU7017798	082418	Alfalfa Supremi	52	21.673	\$465.00	\$10,077.94
CMAU7858845	082475	Alfalfa Supremi	52	21.419	\$465.00	\$9,959.84
FFAU1617345	082489	Alfalfa Supremi	52	21.718	\$465.00	\$10,098.87
FWRU0129695	082478	Alfalfa Supremi	52	21.047	\$465.00	\$9,786.85
MAGU5725930	082477	Alfalfa Supremi	52	21.011	\$465.00	\$9,770.11
SEGU4326740	082404	Alfalfa Supremi	52	21.573	\$465.00	\$10,031.44
SEGU4396666	082469	Alfalfa Supremi	52	20.539	\$465.00	\$9,550.64
SEGU4894334	082447	Alfalfa Supremi	52	21.519	\$465.00	\$10,006.33
SEGU5086665	082403	Alfalfa Supremi	52	21.782	\$465.00	\$10,128.63
TCKU6222860	082421	Alfalfa Supremi	52	21.573	\$465.00	\$10,031.44
TCLU5079705	082464	Alfalfa Supremi	52	21.328	\$465.00	\$9,917.52
TCNU1714749	082466	Alfalfa Supremi	52	21.872	\$465.00	\$10,170.48
TCNU7638672	082442	Alfalfa Supremi	52	20.983	\$465.00	\$9,757.09
TEMU77539068	082454	Alfalfa Supremi	52	21.255	\$465.00	\$9,883.57
TCBU6560142	982408	Alfalfa Sypremi	52	21.537	\$465.00	\$10,014.70
TGHU6490690	005245	Alfalfa Supremi	52	21.500	\$465.00	\$9,997.50

٧.
202
_
N
•
٠.
N
➣
•
r y
пa
$\overline{}$
_
$\overline{}$
<u></u>
Φ
/Febr
_
9
2
á.
<u>U</u>
_
<u>U</u>
_
٧)
a50b1b56
Ξ
4 6
2
=
O
Ω
~
v
2-65d6 ⁷
٧)
-4550
٧)
2
4
4
1
÷
0
0
000
00-I5
1
٠.
\vdash
$\overline{}$

Remaining Balance:						\$.00
Downpay Payment:					\$202,653.33	
Deposit (\$150/MT):						\$96,501.60
Total Value:			1,560	643.344		\$299,154.93
TRHU8289521	082461	Alfalfa Supremi	52	21.627	\$465.00	\$10,056.56
TLLU5006651	082445	Alfalfa Supremi	52	21.809	\$465.00	\$10,141.19
TLLU4908815	082470	Alfalfa Supremi	52	19.305	\$465.00	\$8,976.83
TLLU4228926	082414	Alfalfa Supremi	52	21.700	\$465.00	\$10,090.50
TIIU4313939	005232	Alfalfa Supremi	52	21.691	\$465.00	\$10,086.31

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE

